v

7

*?q-:._"i?“h
%.EE N

B

P
xfﬁ
i

by,
X

"i":'ﬁi"f
0
IR

e

Y,

Y

b
-

R R
TR
N

e
D
SR RN

5

>

L

B
B

et

EI
RN

;

he

AN

1]

N
A
DRSNS

T
NG
PR

| B B

:g*
-"%
R

0

X

i
N
Iﬂ-t‘-.._
SRR

Ja e

Rt g
Nt

R

i
N

by ".E]h 3

SN
N
\‘:\"-.%

o
N

‘11
ARIFER

5L
Fa e

T, E
o
El

e
- .. . @
2]

o
rhe
o

.r'" o o ),
o n

AS/AY /A gt g et Slen s o2 ol M8 81

()=l

Ol el (5 540
S 5 Olidag spsle Sl
2575 il o O3l

$9939 039037
J}‘é &Hsﬂb é;i)‘ wu)wsuajsb
\WAY Sl

2 . =
148 3> Cunlugs

(1Fof u5)

N o

O e e e
i :L,:jl:_jl.'ia;l.n_ﬁ :LTJ.L'JJH L;Jl_’.:'l.ﬁ-- rLi £ rlﬁ .E'i_,.:"' . oA
N ey D 2] e e N s e 5 e e T R AR g e "HF"'.‘;,;
. : : A
[t 855y Sk Ve 213 shiss i
R i R o w wm wrr e, -~ rT— "":':_,:":,E g?ﬁ

S
I

e

LT

R :;{3
SR

Y150 0 Lol g Sluss o glad o Cudilagy 4l y Sl olge ﬁ;:'
B - & & - - !J:"J A
oyl G oylal 5 JIas olass wil=ial olg s iy %ﬂﬂ%ﬁ
- o s & Z }‘I&
r ) v aasd g ogas L) ) /"'? q;_::'#*
$o T ¥ T ﬁ? e
o gl o Calilagy ¥ F::Ef;.;*jjﬁ’l

A
Ae 1 Yo S| ¥ o
Yoo A Yo a V"ﬁ-ﬁ
woed| ¥ i
I¥e 1o} Te . i
To w 1 e 0
. $iglpyes| F w7
o \YF 1 56 by
Ena

1YAD Jlolo widut

Aily e 5loes Olus Gudile 51 s slizal

: -‘:.ll?hﬁ- Pt _F? 1_.{.!"?’?‘!":—--—!!Ir—rﬁr_—qu.—;q.r—r g, e s e o e o - - L i
r e Jﬂi"ﬂ;’;n Ft e B Lt ﬁ-"t:l"'-":,.‘-:-*ﬁ- ;fra}aa:ﬂ',ua,ajﬂu S B ﬂ-ﬁ;fﬁﬁa'ﬁ_"ﬁf‘n:'r e ——
e P AR ke o E,-;é_;:.-; - J,{ﬁ;’ﬁﬁ?ﬁ;ﬁ%gﬁ?jg s ,?3;,: ,{-Eéffﬁﬁéfjﬁf A AL s e
5 Lt n e , P e
R e e B e B e A

e ‘j" 1= e AR i) ]
P E R [ A R ] e e oo T S e P Do e o ; o i e ol ot L e e Ll S [ e T
"'yﬁr‘:E-"-"?‘-' e e G O gg}ﬂ"—ﬁi Jx.ﬂ‘;'iig}fiﬁﬁiyj}'ﬁ "'.r.g.-'f'f f@iﬂé’:’;ﬁ?ﬁﬁ-ﬂk E.E.:-" e

-




11-
12-
13-
14-
15-

Part A: Vocabulary and Gram mar

] Then mark your choice on your answer sheet.

\ i ALY RS Pt L | IR U

e e i e e T —

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.

Governments usually —--——- freedom of movement into and out of the country in fime of
war.
1) detect 2) induce 3) restrict - 4) simulate
You can only come on the school trip if your parents give their written —-—-——,
1) device 2) consent 3) criterion 4) inclination
The government --~—-—-- that the buildings would not be redeveloped in the historical parts of
the town. '
1) tackled 2) confronted 3) committed 4) undertook
. She intends t0 -—---—- a medical career, but her father would like her to study law.
1) engage 2) resolve 3) aspire 4) pursue
Students can be expelled at the -——--——— of the head teacher, and they cannot return to school
within a year after expulsion. _ '
1) foresight 2) judgement 3) alternative 4) discretion
The war would have ended if the enemy planes had not ——-— the cease-fire agreement.
1) violated 2) enforced 3) exceeded 4) attributed
Maths is a(n) ~=----=--- part of the school curriculum almost anywhere in the world.
1) eventual 2) intrinsic 3) concurrent 4) simultaneous
He said that if the annual floods got --———--- —-worse they would have to leave the area.
1) any 2) more 3) very 4) enough
They asked the students not —-—-—- in the building once they had finished the test.
1) stay 2) stayed ' 3) to stay 4) staying
He had two of his teeth - at the dentist's round the corner.
1) extract 2) extracted 3) extracting 4) were extracted

blank. Then mark your choice on your answer sheet.

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each |

Two sailors were missing at sea after two Greek-flagged ships (11) —--------- off the western coast of
Turkey and one of them sank. Ten sailors (12) --------- - board the sailing ship were rescued. The Pel
Mariner sank after it hit the Pel Ranger (13) --------- - seven miles off Turkey's western coast.
Anatolian news agency quoted officials (14) -------—-- - heavy fog could have played a part in the
accident (15) ~--------- the Dardanelles Strait.

1) collided 2) colliding 3) that collided 4) were collided

1)in 2) on 3) over 4) above

1) all ~ 2) with 3) some . f)every

1) say 2) said ' 3) saying 4) were saying

1) near 2) was near 3) to be near 4) it was near
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Answer all questions about the information in a passage on the basis of what is stated or implied in
that passage.

The use of asbestos millboard 1n wall and floor protection is a controversial 1ssue because of the health
hazard of asbestos fibers in the manufacturing, Preparation and handling of the millboard. The national
fire protection association is currently initiating the process of removing asbestos as a standard protection
for reduced clearances. Since the process is a lengthy one, this new standard will probably not be in effect
until early 1981. We strongly encourage use of an alternative protection whenever one is available.
However, if you must use the asbestos millboard, use it cautiously. We recommend painting the asbestos

to keep the fibers from coming loose. If the board must be cut, do not inhale the dust; do the work
outdoors, using a breathing mask.

16-The overall implication of the passage is :

1) Asbestos is as safe as other building matenals

2)Only touching the asbestos fibers with your hands is harmful
3)Asbestos can be harmful to one's health

4)Using asbestos in building materials is all right

17- The national fire protection association is:

1) Promoting asbestos as a safe building matenal

2) Becoming active in the removal of asbestos as a standard building material
3) Taking a "wait-and see" position on asbestos as a building material

4) Staying out of the asbestos controversy completely

18- "Controversial” as used in this passage means

1) Without pro and con sides in the question of its use

2)An issue about which there are strong opinions on both the pro and con sides
3) An issue about which there 1s agreement

4) Something no one really cares about

19- "Inhale" in this passage means
1) Breath into either nose or mouth 2)Take in air through eyes
3) Get fibers under fingmails 4) Get fibers in open cuts and sores

20- What can be used as a deterrent to the hazard of asbestos?
1) Water 2) Boards 3) Air 4) Paint

Stress is with us all the time. It comes from mental or emotional activity as well as physical activity. It is
unique and personal to each of us. So personal, in fact, that what may be relaxing to one person may be

"taking it easy" at the beach on a beautiful day may feel extremely frustrating, nonproductive, and
upsetting. You may be emotionally distressed from "doing nothing." Too much emotional stress can
cause physical illnesses such as high blood pressure, ulcers, or even heart disease. Physical stress from
work or exercise is not likely to cause such ailments. The truth is that physical exercise can help you to
relax and to better handle your mental or emotional stress.

21-This article, published by the department of health and human services, probably came from the :
1) Federal Bureau of investigation

2) Alcohol, Drug Abuse, and mental health Administration

3) Educational administration

4) Communicable Diseases Administration

Zl-Stress. is : | .
1) Optional | 2) Relaxing 3) :‘Manageable 4) The same fu;‘ all people
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23- A source of stress not specifically mentioned in this passage is:
1) Educational activity 2) Physical activity 3) Mental activity = 4) Emotional activ

24- Physical problems caused by emotional stress can appear as all of the following except:
1) Ulcers 2) Pregnancy 3) Heart disease 4) High blood pressure

25- One method mentioned to help handle stress is:
1) Physical exercise 2) Tranquilizers 3) Drugs 4) Taking it easy

Accidents seldom "just happen," and may can be prevented. Accidental injuries become more frequent
and serious in later life. Thus, attention to safety is especially important for older persons.

Several factors make people in this age group prone to accidents. Poor eyesight and hearing can decrease

awareness of hazards. Arthritis, neurological diseases, and impaired coordination and balance can make
older people unsteady.

Various diseases and medications, alcohol, and preoccupation with personal problems can result in
drowsiness, distraction or poor physical conditioning.

When accidents occur, older persons are especially vulnerable to severe injury and tend to heal slowly.

Particularly in women, the bones often become thin and brittle with age, causing seemingly minor falls to
result in broken bones.

Many accidents can be prevented by maintaining mental and physical health and conditioning, and by
cultivating good safety habits.

26- The underlying assumption in this passage is that:

1)Young people have more accidents than other groups
2) Infants are the most accident-prone

3) Accidents happen equally to all age groups
4) Old age brings more propensity to accidents

27- "Just happen" refer to:
1)By chance 2) By being a victim 3) With cause 4) With warning
28- Accident- prone is a condition brought about by all but the following factor.

1) Arthritis 2) Neurological diseases
3) Poor eyesight and hearing 4) Wealth

29~ "Vulnerability" in this passage refers to the elderly populations:
1) Unconquerability 2) Susceptibility 3) Invincibility 4) Indestructibility

30- Which physical problem is not mentioned as a cause of unsteadiness in the elderly?
1) Neurological diseases 2) High blood pressure
3) Arthritis 4) Coordination problems
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